ST. LANDRY PARISH

PLANT ENTERPRISES PRODUCTION

51. LANDKI TAKISII	N. 1 C	ILANI EN		PRODUCTION		11	C F
Crop	Number of Producers	Acres	Yield per Acre		Total Production	Units of Measure	Gross Farm Value
COTTON							
Lint - Non-irrigated (Total)		2,898.0	900.00		2,608,200	lbs.	\$1,256,109
Seed - Non-irrigated (Total)		2,898.0	1,440.00		4,173,120	lbs.	\$201,144
Cotton (Total)	*	2,898.0					\$1,457,254
FORESTRY		ŕ					
Pulpwood							
Pine					1,460	cords	
Hardwood					23,087	cords	
Pulpwood (Total)					24,547		
Chip & Saw (Total)					96	cords	
Saw Timber							
Pine					34,277	board feet	
Hardwood					6,875,150	board feet	
Saw Timber (Total)					6,909,427		
Total Pulpwood, Chip & Saw,							\$4,626,807
Saw Timber FOB Mill							
Total Forestry Stumpage							\$2,578,143
(Total)							
Forestry (Total)							\$4,626,807
FRUITS							
Blackberries (Total)	*	1.0	750.00		750	pints	\$1,313
Strawberries (Total)	*	2.0	1,000.00		2,000	flats	\$26,000
Fruits (Total)		3.0					\$27,313
FEED GRAINS							
Corn (Total)	20	5,911.0	132.00		780,252		\$2,067,668
Grain Sorghum (Total)	45	15,927.0	80.00		1,274,160	cwt.	\$5,970,714
Feed Grains (Total)		21,838.0					\$8,038,382
GREENHOUSE VEGETABLES							
Tomatoes (Total)	*	3,000.0	5.50	Yield / sq. ft.	16,500	lbs.	\$22,275
Greenhouse Vegetables (Total)		3,000.0					\$22,275

Home Gardens (Total) NURSERY CROPS	5,000					\$1,000,000
Floraculture & Bedding	*				acre	\$25,000
Plants (Total)					acic	\$23,000
Woody Ornamentals (Total)	*				acre	\$1,200,000
Nursery Crops (Total)						\$1,225,000
PECANS						. , ,
Improved (Total)	10	200.0	610.00	122,000	lbs.	\$158,600
Native (Total)	350	1,350.0	640.00	864,000	lbs.	\$820,800
Pecans (Total)		1,550.0				\$979,400
Rice (Total)	53	21,214.0	53.50	1,134,949	cwt.	\$10,101,046
Soybeans (Total)	65	65,736.0	38.00	2,497,968	bu.	\$14,628,101
SUGARCANE		ŕ				
Raw Sugar (Total)	9	12,374.0	5,250.00	64,963,500	lbs.	\$7,795,620
Molasses (Total)		12,374.0	158.00	1,955,092	gal.	\$391,018
Sugarcane (Total)		12,374.0				\$8,186,638
SWEET POTATOES						
Canning (Total)				59,063		\$324,847
Fresh (Total)				72,188		\$776,021
Sweet Potatoes (Total)	*	350.0	375.00	131,250	bu. (50 lbs.)	\$1,100,868
VEGETABLES						
Broccoli (Fresh) (Total)	6	2.0	150.00	300	cartons (20	\$6,000
					lbs.)	
Cabbage						
Fresh	*	3.0	600.00	1,800	sacks (50 lbs.)	\$16,200
Cabbage (Total)		3.0				\$16,200
Cantaloupe (Total)	*	2.0	130.00	260	cartons (40	\$4,532
					lbs.)	
Carrots (Total)	*	1.0	150.00	150	doz. bunches	\$1,050
Cauliflower (Total)	*	1.0	450.00	450	cartons (20	\$9,000
					lbs.)	
Cucumber						
Fresh	6	4.0	275.00	1,100	bu. (50 lbs.)	\$19,800
Cucumber (Total)		4.0				\$19,800

ST. LANDRY PARISH

CT	T	A 1		DX	П	•	D	CT	Ĺ
ST.	11/	411	ı,	KY	r	А	K	ЭП	

PLANT ENTERPRISES PRODUCTION

SI. ERIORI TARISI	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Eggplant (Total)	*	3.0	350.00	1,050	bu. (33 lbs.)	\$21,000
Irish Potatoes						
Fresh	*	4.0	150.00	600	cwt.	\$21,000
Irish Potatoes (Total)		4.0				\$21,000
Mustard (Fresh) (Total)	10	5.0	600.00	3,000	doz. bunches	\$21,000
Okra (Fresh) (Total)	20	25.0	250.00	6,250	bu.	\$187,500
Peppers						
Bell	*	2.0	850.00	1,700	bu. (28 lb.)	\$34,000
Peppers (Total)		2.0				\$34,000
Shallots (Total)	*	1.0	1,100.00	1,100	doz. bunches	\$7,700
Snap Beans (Fresh) (Total)	*	2.0	125.00	250	bu. (30 lbs.)	\$7,500
Southern Peas (Fresh) (Total)	*	4.0	75.00	300	bu. (24 lbs.)	\$7,500
Squash (Fresh)						
Yellow Squash	*	2.0	150.00	300	bu. (45 lbs.)	\$6,750
Zucchini Squash	*	1.0	150.00	150	bu. (45 lbs.)	\$3,375
Squash (Fresh) (Total)		3.0				\$10,125
Sweet Corn (Fresh) (Total)	8	35.0	500.00	17,500	doz. ears	\$61,250
Tomatoes (Field) (Total)	11	6.0	1,350.00	8,100	lugs (20 lbs.)	\$162,000
Turnips (Fresh) (Total)	*	3.0	540.00	1,620	doz. bunches	\$11,340
Watermelon (Total)	*	15.0	125.00	1,875	cwt.	\$15,000
Vegetables (Total)		121.0				\$623,497
Wheat (Total)	18	7,443.0	56.00	416,808	bu.	\$1,672,859
TOTAL ALL PLANT ENTERPR	RISES					\$53,689,438
	FISHER	EIES & WILD	LIFE ENTERPRISES	PRODUCTION		
	Number of		Units of	Total	Units of	Gross Farm
Figharias	D 4		D., - 4 4	D d	M	T 7-1

Number of Units of Total Units of Gross Farm Fisheries Producers Production Production Measure Value AQUACULTURE Crawfish (Farm) (Total) 125 10,250 Acres in Prod. 3,587,500 lbs. \$4,305,000

Aquaculture (Total)						\$4,305,000
FRESHWATER FISHERIES						
Freshwater Finfish (Total)				1,131,919	lbs.	\$481,066
Freshwater Fisheries (Total)						\$481,066
Alligators (Wild) (Total)				922	ft.	\$23,063
HUNTING LEASES						
Waterfowl (Total)	25	10,000	No. Acres		acre	\$500,000
			Leased			
All Other Game (Total)	50	150,000	No. Acres		acre	\$1,050,000
			Leased			
Hunting Leases (Total)						\$1,550,000
TOTAL ALL FISHERIES & WILDLIFE ENTERPRISES						\$6,359,128

^{**} The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES	Troducers	Troduction	Troduction	Tyreasure	v aruc
Steer Calves					
300-400 lbs.			2,687	hand	¢1 225 721
					\$1,335,721
400-500 lbs.			2,205		\$1,229,894
500-600 lbs.				head	\$391,199
600-700 lbs.			90	head	\$61,864
Steer Calves (Total)					\$3,018,678
Heifer Calves					
300-400 lbs.			2,676	head	\$1,181,334
400-500 lbs.			2,210	head	\$1,153,123
500-600 lbs.			640	head	\$369,987
600-700 lbs.			88	head	\$58,619
Heifer Calves (Total)					\$2,763,062
Yearling Cattle					. , ,
600-700 lbs.			245	head	\$159,170
700-800 lbs.				head	\$119,637
Yearling Cattle (Total)			100	noud	\$278,807

ST. LANDRY PARISH

ST. LANDRY PARISH

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Cull Cows (Total)				1,290	head	\$487,943
Cull Bulls (Total)				490	head	\$414,320
Cattle & Calves (Total)	447	12,220	No. Cows			\$6,962,809
DAIRY						
Dairy Cows						
Milk	*	215	No. Adult Cows	2,283,397	pounds	\$334,746
Bred Heifers				9	head	\$15,615
Adult Cows				8	head	\$11,200
Cull Cows				58	head	\$32,625
Bull Calves				97	head	\$4,850
Breeding Age Bulls				1	head	\$1,100
Dairy Cows (Total)						\$400,136
Dairy (Total)						\$400,136
HORSES						
Brood Mares						
Race Horses	45	280	No. Brood Mares	280	head	\$2,240,000
Show Horses	35	54	No. Brood Mares	54	head	\$216,000
Recreation Horses	350	2,250	No. Brood Mares	1,125	head	\$1,687,500
Brood Mares (Total)						\$4,143,500
Stud Fees						
Race Horses	100	375	No. Stallions	375	mares bred	\$937,500
Show Horses		50	No. Stallions	45	mares bred	\$67,500
Recreation Horses		600	No. Stallions	950	mares bred	\$475,000
Stud Fees (Total)						\$1,480,000
Race Horses (Total)	100			375	head	\$4,500,000
Show Horses (Total)	35			50	head	\$250,000
Recreation Horses (Total)	575			950	head	\$1,425,000
Horses (Total)						\$11,798,500
SHEEP						

SHEEP					
Wool (Total)		750 No. Sheared	4,500	cwt.	\$1,125
Slaughter Lambs (Total)			607	head	\$94,844
Feeder Lambs (Total)			83	head	\$6,225
Show Lambs (Total)			3	head	\$900
Stocker Sheep (Total)			20	head	\$1,500
Cull Sheep (Total)			250	head	\$12,500
Sheep (Total)	45	750 No.Breeding			\$117,094
		Ewes			
GOATS					
Show Goats (Total)			10	head	\$2,500
Slaughter Goats (Total)			230	head	\$28,750
Stocker Goats (Total)			30	head	\$2,850
Cull Goats (Total)			50	head	\$3,250
Goats (Total)	8	250 No. Does			\$37,350
SWINE					
Show Pigs (Total)			8	head	\$2,240
Swine (Total)	*	1 No. Sows			\$2,240
TOTAL ALL ANIMAL ENTERPRISE	ES				\$19,318,129

ST. LANDRY PARISH \$79,366,695 263